Comparos B8 ®

4. A particle of mass m = 5.00 kg is released from point @ Toxal Ind Enevgy = Tokal Flad Ewev Y
and slides on the frictionless track shown in Figure P8.4 . A B 2
Determine (a) the particle’s speed at points ® and © and t \/!{_ 743\»\ a 2 l’i 9&\1 ® X %3 \\ B

Figure P8.4

Two objects are connected by a light string passing over a

light, frictionless pulley as shown in Figure P8.7. The

object of mass 5.00 kg is released from rest. Using the iso-

lated system model, (a) determine the speed of the 3.00-kg
object just as the 5.00-kg object hits the ground. (b)yFimd
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Figure P8.7 Problems 7 and 8. -

aBLSY = -4 N2+ TIGRD)

\’B: 5.4 "‘)3

<

A - écmra~§~§ @ [4 @

'\/\z/ Tokal It Enevay ® Toxa) Fiva)l Ewevgy
¢ Maha T h¥ve * vighc
a8 () * 3V + A3D
v, = 33 "

inY ”ﬁ&\ ‘g}““\

boh il be movivs o
§awe 3"“
Tor Int\ Ewevyqy * Tota) Final Evevey
(| 2
m“jl‘"‘.. = 'zlm\\l +2mz\l * mﬂ\“z{
2BHOY = 18"
‘*0"\ W)l,

N




. \ - T -
[3] A bead slides without friction around a loop-the-loop Toa Iny & werqy = Tova\ P N\ Ewe hip)

(Fig. P813). The bead is released from a height h = 3.50R - A 2
(a) What is the bead’s speed at point ®@? (b) How large is %%\(\ - 2 ?( \In X %3 2 R
the normal force on the bead if its mass is 5.00 g? d i
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[5] A block of mass 0.250 kg is placed on top of a light vert- : h

cal spring of force constant 5 000 N/m and pushed downr E _2:

ward so that the spring is compressed by 0.100 m. After
the block is released from rest, it travels upward and then
leaves the spring. To what.maximum height above the
point of release-does it rise? - S
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